nanosecond

617033 s: Mdev= 0.52174E-12 Tdev= 185870 ps
- 308516 s: Mdev= 0.13888E- dev= 247380
04/04/19 sl01igrt58537_35.ppp_defaut-775d-15 3-stp 194758 o Midowe 029193511 T 225540 o
77129 s: Mdev= 0.35083E-11 Tdev= 156230 ps
38565 s: Mdev=0.47828E-11 Tdev= 106490 ps

200 v, ' ' ' ' - 19282 s: Mdev= 0.63063E-11 Tdev= 70206 ps
7 Edllowing steps removed: 3 9641 s: Mdev= 0.71658E-11 Tdev= 39887 ps
200 - i = 4821 s: Mdev= 0.57783E-11 Tdev= 16082 ps
1 58541.26042 : Step 1 -100 ns . , B B P
100 3 E 2410 s: Mdev= 0.38010E-11 Tdev= 5289 ps
E 58541.38715 : Step 2 383700 ns - , _ _
0 = 58541.41667 - Step 3 —381300 ns = 1205 s: Mdev= 0.24377E-11 Tdev= 1696 ps
3 - ' P c 603 s: Mdev= 0.19813E-11 Tdev= 689 ps
-100 = 301 s: Mdev= 0.40830E-11 Tdev= 710 ps
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